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1. tNc-∑m-sc-°p-dn®v {]-Xn-]m-Zn-°p∂ kwL-Ime IrXn ?

a) ]Xn-‰p-]Øv  b) a[p-ssc-Im©n
c) aWn-ta-Je d) F´p-sØmssI

2. {]`p-°-∑m-cpsS ]qgvØn-h-bv∏n-s\-Xnsc 1946 ¬ \S∂ kacw?
a) tXm¬hn-dIv kacw  b) Hc-W-k-acw
c) Icn-h-≈q¿ kacw d) Ip´w-Ipfw kacw

3. 1929 se emtlm¿ tIm -̈{K v ktΩ-f-\-Øns‚ A≤-y-£≥?
a) Km‘nPn b) Ph-l¿em¬ s\lvdp

c) ]t´¬ d) tamØn-em¬ s\lvdp
4. temØ¬ ÿnXn sNøp∂ \Zo-Xocw?

a) \¿ΩZ  b) L§¿ c) kc-k-zXn d) k_¿ΩXn
5. Kp¬am¿Kv kpJ-hmk tI{µw ÿnXnsN-øp∂ ÿew?

a) {io\-K¿ b) ]›n-a-_w-Kmƒ
c) DØ-cm-JWvUv d) lnam-N¬{]-tZiv

6. sImbmen FÆ-ip-≤o-I-c-W-ime ÿnXn-sN-øp∂ kwÿm\w?
a) Akw  b) KpP-dmØv c) alm-cmjv{S d) HUoj

7. shÃv tImÃv I\m¬ F∂-dn-b-s∏-Sp-∂Xv?
a) tZiob Pe-]mX 1 b) tZiob Pe-]mX 2
c) tZiob Pe-]mX 3 d) tZiob Pe-]mX 4

8. {]mtZ-inI hmX-a-√m-ØXv?
a) eq  b) Ic-°m‰v c) Nn\q°v d) s^m≥

9. ]©m-bØv cmPn\v ̀ c-W-L-S\m km[pX \¬Inb t`Z-KXn?
a) 72  b) 73 c) 74 d) 86

10.temIm-bp‡ BIv‰v ]mkm-°nb BZy kwÿm\w?
a) alm-cmjv{S        b) tKmh c) HUoj d) Akw

11.]pXp-Xmbn Xnc-s™-Sp-°-s∏-Sp∂ temIvk-̀ -bpsS BZy ktΩ-f-
\-Øn¬ A[-y-£X hln-°p-∂Xv?

a) {][m-\-a{¥n  b) temIvk`m kv]o°¿
c) cmjv{S-]Xn d) t{]mt´w kv]o°¿

12.tZiob h\nXm IΩn-j-\n¬ sNb¿am≥ Dƒs∏-sS-bp≈ AwK-ß-
fpsS FÆw?

a) 4  b) 5 c) 6 d) 7
13.C¥-y-bnse G‰hpw henb c≠m-asØ s]mXp-ta-Jem _m¶v?

a) sF.-kn.-sF.-kn.sF b) _m¶v Hm^v _tdmU
c) Im\dm _m¶v d) {]kn-U≥kn _m¶v

14.tIc-f-Øn¬ G‰hpw IqSp-X¬ Irjn sNøp∂ \mW-y-hnf?
a) \mfn-tIcw  b) Ipcp-ap-fIv c) Iip-h≠n d) s\√v

15.C¥-y≥ Fb¿t^mgvkv A°m-Z-an-bpsS Bÿm\w ?
a) \yq-U¬ln   b) eIv\u  c) _wK-eqcp    d) sslZ-cm-_mZv

16.‘XSm-I-ß-fpsS \Kcw’ F∂-dnbs∏Sp-∂Xv?
a) Pbv]q¿  b) DZ-bv]q¿ c) Im¨]q¿ d) ]oXmw-]q¿

17.C¥-y-bnse G‰hpw henb Ccp-ºp-cp°vime?
a) s_m°mtdm   b) dq¿t°e c) Zp¿Km-]q¿ d) ̀ nembv

18.DØ-cm-b-\-tcJ IS-∂p-t]m-Ip∂ C¥-y≥ kwÿm-\-ß-fpsS FÆw?
a) 6  b) 7 c) 8 d) 9

19.C¥-y≥ tZiob ]Xm-Isb ̀ c-W-L-S\m \n¿ΩmW k` AwKo-I-
cn-®Xv?

a) 1947 am¿®v 22 b) 1947 BKÃv 15
c) 1947 G{]n¬ 22 d) 1947 Pqsse 22

20. Ie-Isf Ipdn-®p≈ ]T\w?
a) sskt‰m-fPn  b) lntÃm-fPn
c) sl∏-t‰m-fPn d) ss^t°m-fPn

21. c‡w I´-]n-Sn-°m≥ Bh-i-y-amb [mXp?
a) Im’yw  b) s]m´m-kyw c) tkmUnbw d) Ab-Un≥

22.B‚n-s]-√{K ssh‰-an≥ GXv?
a) ssh‰-an≥ B1 b) ssh‰-an≥  B2
c) ssh‰-an≥  B3 d) ssh‰-an≥ B7

23. Icnºv Kth-jW tI{µw ÿnXn sNøp∂ ÿew?
a) as¶mºv  b) Xncp-h√ c) sh≈m-\n-°c d)hmg-°pfw

24.ico-c-Øn¬ bqdnb \n¿ΩmWw \S-Øp∂ Ah-bhw?
a) hr°  b) Xz°v c) Icƒ     d) lrZbw

25.{_u¨ tImƒ F∂-dnb-s∏-Sp-∂Xv?
a) _n‰p-an-\kv  b) enKvss\‰v c) B{¥m-ssk‰v d) ]o‰v

26.bm{¥n-tIm¿÷w sshZ-yp-tXm¿÷am°p∂ D]-I-cWw?
a) ssU\mtam b) tam´¿
c) Ce-Iv{SnIv ̂ m≥ d) Ce-Iv{SnIv s_¬

27.Nen-®p-sIm-≠n-cn-°p∂ Hcp hkvXp-hns‚ {]thKw Cc-́ n-bm-hp-I-
bm-sW-¶n¬ AXns‚ KXn-tIm¿÷w ........... BIp∂p?

a) 2 Cc´n  b) 4 Cc´n c) 8 Cc´n d) am‰-an√
28. Dbcw IqSp-∂-Xn-\-\p-k-cn®v A¥-co£ a¿±w Ipd™p hcp-∂p.

GI-tZiw 10 ao‰¿ Db-c-Øn\v F{X tXmXn-emWv a¿±w Ipd-bp-
∂Xv?

a) 1.5 an√o-_m¿  b) 2 an√o-_m¿
c) 1 an√o-_m¿ d) 2.5 an√o-_m¿

29.kuc-I-f-¶-ßƒ BZ-y-ambn Is≠-Ønb imkv{X-⁄≥?
a) Keo-entbm    b) sIπ¿    c) tIm∏¿ \n°kv   d) \yq-´¨

30. C¥-y-bpsS amKv\m-°m¿´ F∂v hnti-jn-∏n-°p-∂Xv?
a) BapJw b) auenI IS-a-Iƒ
c) auenI Ah-Im-i-ßƒ d) \n¿t±-i-I XX-z-ßƒ

31.em‰-td‰v aÆn\v Nph∏v \ndw \¬Ip-∂Xv?
a) Ab¨ HmIvsskUv b) kn¶v HmIvsskUv
c) Aep-an-\nbw HmIvsskUv d) knen-°¨

32. \nb-a-hn-cp-≤hpw \oXn-c-ln-X-hp-amb hnNm-cW XS-bm≥ ]pd-s∏-Sp-
hn-°p∂ dn´v?

a) am≥U-amkv  b) sk¿tj-zm-ddn
c) tIzm hmdt‚m d) s{]mln-_n-j≥

33. {_lva-]p{X _w•m-tZ-in¬ Adn-b-s∏-Sp∂ t]cv?
a) ]fl  b) Pap\ c) ZnlmMv d) kmMvt]m

34. ]d-ºn-°pfw h\-y-Pohn kt¶Xw \ne-hn¬ h∂ h¿jw?
a) 1973  b) 1974 c) 1983 d) 1984

35. C¥y dn∏-ªn°v BIp-∂-Xns‚ Xte-Zn-hkw A¥-cn® tIcf
\thm-∞m\ \mb-I≥?

a) ]WvUn‰v Idp-∏≥  b) Aø-Øm≥ tKm]m-e≥
c) tUm.-]¬]p d) kn.-Ir-jvW≥

36. tZiob t]mÃ¬ Zn\w?
a) HIvtSm-_¿ 10  b) \hw-_¿ 10
c) Unkw-_¿ 10 d) sk]v‰w-_¿ 10

37.C¥-y-bp-ambn G‰hpw IqSp-X¬ Ic AXn¿Øn ]¶n-Sp∂ cmPyw?
a) A^vKm-\n-ÿm≥  b) ssN\    c) _w•m-tZiv    d) aym≥am¿

38.`n∂-enw-K-°msc kaq-l-Øns‚ ap≥\n-c-bn-te°v Db¿Øn-s°m≠p
hcp-∂-Xn-\mbn kwÿm\ kmaq-lnI \oXn hIp∏v Bcw-`n®
]pXnb ]≤Xn?

a) ag-hn√v     b) Xfncv c) ]p\¿P\n d) Poh\w
39.lcn-bm-\-bpsS ]pXnb apJ-y-a-{¥n-bmbn \nb-an-X-\m-bXv?

a) Zpj-y¥v Nu´me  b) ]rYzohn tiJ¿
c) at\m-l¿ em¬ L´¿ d) ̀ pthjv ̀ mtK¬

40.2020 se  ICC-U-19  temI-I∏v {In°‰v thZn?
a) C¥y   b) Z£n-Wm-{^n°    c) Bkvt{S-enb d) Cw•≠v

41.C¥-y-bn-em-Z-y-ambn tkmj-y¬ HmUn‰v \nb-aw Bcw-̀ n® kwÿm\w?
a) antkmdmw  b) {Xn]pc c) \mKm-em‚ v d) taLm-eb

42. kºq¿Æ-ambn kutcm¿÷-Øn¬ {]h¿Øn°p∂ C¥-y-bnse
 BZy tI{µ ̀ c-W-{]-tZiw?

a) Znbp    b) ]pXp-t®cn     c) Zm{Zm-\K¿l-thend) e£-Z-zo]v
43.‘]pcp-j\v bp≤w kv{Xo°v amXr-Xzw F∂-Xp-t]m-se-bmWv’ CXv

BcpsS hm°p-Iƒ  ?
a) ln‰ve¿  b) s\t∏m-fn-b≥      c) dqt m d) apt m-fn\n

44.Bbncw Bh-i-y-ßƒ°p≈ acw?
a) th∏v  b) sXßv c) B¬ d) ]\

45.‘ssa {]kn-U≥j-y¬ Ctbgvkv ’ BcpsS ]pkvX-I-amWv?
a) sI.-B¿.-\m-cm-b-W≥ b) hn.-hn.-Kncn
c) B¿.-sh-¶-́ -cm-a≥ d) cmtP-{µ-{]-kmZv

46.C¥-y-bpsS 47-̨ m-aXv No v̂ PÃnkv Bbn \nb-an-X-\m-Ip∂ hy‡n?
a) Fkv.-F.-t_mw_vtU b) cRvP≥K-tKmbv
c) Fkv.-a-Wn-Ip-am¿ d) Znhm-Ic ]Wn-°¿

47.C¥-y-bnse G‰hpw henb XSmI Xpd-apJw?
a) sIm¬°Ø     b) sIm®n c) Im≠ve d) \h-tjh
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48.“s]mXp-̀ -c-W-sa-∂m¬ Kh¨sa‚ v ̀ c-WsØ kw_-‘n-°p-∂-Xm-Wv ”.
 CXv BcpsS \n¿h-N-\-amWv?

a) tPm¨tem°v  b) F≥.-•m-U¨
c) tXma-kvs]-bn≥ d) thmƒ -́b¿

49.G‰hpw Ipdhv \K-c-k-`-I-fp≈ Pn√?
a) CSp°n  b) hb-\mSv c) Xr»q¿      d) Fd-Wm-Ipfw

50. temI-Ønse G‰hpw henb hm¿Øm GP≥kn?
a) At m-kn-tb‰v {] v b) sSemw
c) Sm≥PKv d) {] v {SÃv Hm^v C¥y

51.‘hnZ-zm≥’ F∂-Xns‚ FXn¿enwKw F¥v?
a) hnZqcn b) hnZpjn c) hnZ-zm\n d) hnZzn

52.‘s]t{Smƒ thK-Øn¬ IØp-∂-XmWv’  -̨  CXn\v kam-\-amb Cw•ojv
hmIyw?

a) Petrol is inflammatory b) petrol is highly inflammable
c) petrol is not inflammable d) petrol causes inflammation

53.‘c≠v ]£Øpw tNcp-∂-h≥’ F∂¿∞w hcp∂ ssientbXv?
a) InW-‰nse Xhf b) C√sØ ]q®
c) Imbw-Ipfw hmƒ d) tImbn-Ø-ºp-cm≥

54.‘A{Zn’ F∂ ]Z-Øns‚ A¿∞w F¥v?
a) hr£w b) taLw c) Ccp v́ d) ]¿∆Xw

55.ae-bmfw F∂ ]Zw icn-bmb A¿∞-Øn¬ ]ncn-°p-∂Xv?
a) ae+-Bfw b) ae+-bmfw c) ae-b+-Bfw d) ae-b+-Afw

56.icn-bmb ]Z-taXv?
a) {In{Xnaw b) Ir{Xnaw c) {InXraw d) IrXraw

57.kZm-Nmcw F∂ ]Z-Øns‚ hn]-coXw?
a) A\mNmcwb) Ak-`yw c) Zpcm-Nmcw   d) A[ym-floIw

58.‘DW¿∂n-cn-°p∂ Ahÿ’ H‰-∏Zw Fgp-XpI?
a) PmKcw b) PmK-cWw c) kvtIm`w d) AKmYw

59.icn-bmb hmIyw GXv?
a) Nca hm¿Ø Adn-bn-°m≥ Ah≥ Hmtcm hoSpw Ib-dn-bn-d-ßn.
b) Nca hm¿Ø-b-dn-bn-°m≥ Ah≥ hoSp-tXmdpw Ib-dn-bn-d-ßn.
c) Nca hm¿Ø Adn-bn-°m≥ Ah≥ Hmtcm hoSp-tXmdpw Ib-dn-bn-d-ßn.
d) Nca hm¿Ø-b-dn-bn-°m≥ Ah≥ F√m-hoSpw Ib-dn-bn-d-ßn.

60.‘A∏w t]mse XSn-bp≠v Aev]w am{Xw Xe-bp≠v’ IS-¶-Y-bpsS
DØ-c-sa¥v?

a) H´Iw b) Nnch c) Ba d) hmg-∏n≠n
61.It is ________ book that won the prize

a) a b) the c) an d) any
62.The antonym of ‘abound’

a) lack b) amply c) galore d) plenty
63.Either the parents or the boy ________ in this affair

a) is to blame b) are to blame
c) were to blame d) was to blame

64.Killing of one’s father is called _____________
a) fratricide b) patricide c) parricide d) matricide

65.A large __________ of policemen could be seen on the site
a) mob b) army c) crew d) posse

66.Few boys came for the meeting _______
a) do they? b)don’t they c) didn’t they? d) did they

67.Which of the following words is spelt correctly   ?
a) coreography b)choriography
c) choreography d) chairography

68.This room is ________ than the other
a) some b)worst c) worse d)worser

69.An elderly unmarried women is called ________
a) maid b) sycophant c)benefactor d) spinster

70.I cannot ________ what he is saying
a) make in b) put off c) make out d) put up

71.Mr.Manoj _________ the work in November last year
a) start b) started c) will start d) have

started
72.Are you afraid __________spiders

a) with b) about c) at d) of
73.He is the person ______ saved the child

a) which b) whom c) who d) what
74.Your boss would consider  you, if you ____ punctual

a) were b) are c) had been d) have been
75.Criticism of other religions _______ hatred and violence among

 indians.
a) dead end to     b) bear fruit to
c) ones conscience pricks one     d) fan the flame of

76.I bought the baby a doll. change into passive voice
a) The baby was bought a doll.
b) A doll was bought for the baby.
c) I was bought a doll for the baby.       d) None of these.

77.She often ______ to church.
a)go b) is going c) was going d)goes

78.He will say  “ I am not well”
    which among the following option is true,when the above

sentence is converted into indirect speech.
a) He will say that he is not well
b) He would say that he is not well
c) He will say that he was not well
d) He would say that he was not well

79.Polygraph tests ________ accepted in court cases
a) have been     b) will have c) were used d) are known

80.Chocolate cake contains a __________ amount of calorie
a) high b) numerous c) big d) large

81.Hcp kwJ-y-bpsS 30% 210 Bbm¬ B kwJ-y-bpsS 70% F{X?
a) 370 b) 420 c) 390 d) 490

82.5 t]¿°v Hcp tPmen sNbvXp Xo¿°m≥ 10 Znhkw thWw. F¶n¬
2 t]¿ F{X Znhkw sIm≠v Cu tPmen sNbvXp Xo¿°pw?

a) 18 b) 19 c) 24 d) 25
83. A:B=3:4  Dw B:C = 3:5  Dw Bbm¬  A:B:C F{X?

a) 3:7:5 b) 9:12:20 c) 3:12:5 d) 3:4:5
84. 2+4+6+ ............. 100 F{X?

a) 2500 b) 2550 c) 1225 d) 2780
85. Hcp ¢mknse 30 Ip´n-I-fpsS icm-icn Dbcw 105 sk.an BWv.

icm-icn 112 sk.an D≈ 20 Ip´n-Iƒ IqSn B ¢mkn¬ tN¿∂m¬
icm-icn Dbcw F¥v?

a) 107.8 b) 108.5 c) 110 d) 107
86. Hcmƒ 400 cq] 11% km[m-cW ]en-ibv°v 13 h¿j-tØ°pw

AtX XpI 13% km[m-cW ]en-ibv°v 12 h¿j-tØ°pw
\nt£-]n-®m¬ ]eniIƒ XΩn-ep≈ hy-X-ymkw F{X?

a) 50 b) 51 c) 52 d) 53

87. 20 ÷ { 30 +(7 × 20˛ 2)-˛69 × 2}= ?
a) 2/3 b) 3/4 c) 1/3 d) 2/5

88. A°-ßƒ shdpw hc-I-fmbn kqNn-∏n® Hcp t¢m°ns‚ IÆm-Sn-
bnse {]Xn-_nw-_-Øn¬ t\m°n-b-t∏mƒ 7:30 BWv kabw F∂m¬
icn-bmb kabw F{X?

a) 3.30 b) 4.30 c) 5.30 d) 6.30
89. kabw 7.20 t¢m°nse an\n´v aWn-°q¿ kqNn-Iƒ XΩn-ep≈

tImW-fhv F{X?
a) 00 b) 500 c) 1000 d) 1100

90.1 cq]bv°v 2 \mcß hmßn 3 cq]bv°v 4 \mcß hoXw hn¬°p-I-
bm-sW-¶n¬ em -̀i-X-am\w F{X?

a) 40% b) 50% c) 30% d) 60%
91.A\p 7 In.an Ing-t°m´v \S-∂-Xn-\p-tijw he-tØm´v Xncn™v 3

In.an k©-cn-®n´v he-tØm´v Xncn™v 11 In.an t]mbn. A\p
Ct∏mƒ bm{X XpS-ßnb ÿeØp \n∂pw F{X Zqcw AI-se-bmWv?

a) 6 b) 5 c) 4 d) 3
92. (10000)0.75

a) 100 b) 1000 c) 10 d) 500
93. 0, 2, 8, 14 ............... 34 ?

a) 20 b) 22 c) 24 d) 26
94. x -8 × x8 = ?

a) x16 b) x-64 c) 0 d) 1
95. 1984 P\p-hcn 1 Rmb-dmgvN Bbn-cp-∂p-sh-¶n¬ 31.12.1984 GXv Znh-

 k-am-bncn°pw?
a) Rmb¿ b) Xn¶ƒ c) i\n d) sNm∆

96. 2 kwJ-y-IfpsS XpI 20 Dw Ah-bpsS hy-X-ymkw 4 Dw Bbm¬
B kwJ-y-I-fpsS KpW-\-̂ -ew F{X?

a) 96 b) 88 c) 76 d) 150
97. 5 ÷ 0.1 ?

a) 5 b) 0.5 c) 1 d) 50
98. Hcp ]q°-f-Øn¬ Hmtcm hcn-bnepw 123, 121, 119 .......... F∂o {Ia-

 Øn¬ ]q°ƒ ASp-°n-bn-cn-°p-∂p. Ah-km\ hcn-bn¬ 15
 ]q°ƒ Ds≠-¶n¬ B ]q°-f-Øn¬ BsI F{X hcn-Iƒ D≠mIpw?

a) 45 b) 50 c) 52 d) 55
99. 9328 an√n en‰¿ = .................. en‰¿?

a) 93.28 b) 935.8 c) 0.9328 d) 9.328
100. Hcp ew_-I-Øns‚ kam-¥c hi-ß-fpsS \of-ßƒ 15 sk.-ao,

 29 sk.ao kam-¥c hi-ßƒ XΩn-ep≈ AIew 12 sk.ao Bbm¬
 hnkvXo¿Æw F{X?

a) 215cm2 b) 264cm2 c) 294cm2 d) 318cm2


